Important Instructions for the
School Principal

(Not to be printed with the question paper)

1) This question paper is strictly meant for use in school based SA-1, September-2012 only.
This question paper is not to be used for any other purpose except mentioned above under
any circumstances.

2) The intellectual material contained in the question paper is the exclusive property of
Central Board of Secondary Education and no one including the user school is allowed to
publish, print or convey (by any means) to any person not authorised by the board in this
regard.

3) The School Principal is responsible for the safe custody of the question paper or any other
material sent by the Central Board of Secondary Education in connection with school
based SA-I, September-2012, in any form including the print-outs, compact-disc or any
other electronic form.

4) Any violation of the terms and conditions mentioned above may result in the action
criminal or civil under the applicable laws/byelaws against the offenders/defaulters.

Note:

Please ensure that these instructions are not printed with the question
paper being administered to the examinees.
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General Instructions :

()

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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e W 19 9 i TR Sl S Gehell &1 7Y 39 3G § ik w41 AT 7, 379 W 1 ¥
I |

A rubber band can change its shape on stretching. Will you classify it as solid or not ?
Justify your answer.

S Tt uTqy hif¥TeRT H TR R U bt 1 St ], < hif¥rent fereelt wfeq sl e Wepfaa @
ST 81 39 afEe i R wed § 2

When a living plant cell loses water through of osmosis, there is contraction of the.
Contents of the cell away from the cell wall. What is this phenomenon called ?

Teh 27 I ohl TREIHT Sifeg |

Define one Newton of force.

geref Y i STawenal sl f7 % YR W TR %Y H sHafted Sifew |

(i) fereeor =it

(i) ol I TR

Arrange the three states of matter in the increasing order of :
(i) rate of diffusion

(ii) particle motion

T foaer & 350 g foeesd sia § 50 g =t faer © | foea & 2o ufaea 511 ge0me & Wl o
ferera =i wigd =1 qisher whifsry |

A solution contains 50 g of sugar in 350 g of water. Calculate the concentration of solution
in terms of mass by mass percent of the solution.

fean e o SichTgHl Sdeh i oread e Tefvd S W@ &1 39 fot ° 7/ ‘M, ‘N, ‘O’ 3R ‘P’

Given is the diagram showing longitudinal section of collenchymas tissue. Label the parts
‘M’,’N’, ‘O’ and ‘P’ in the given diagram.
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10.

11.

‘Yo T G A § 2 U TS 1 e ol B9 § A9 R SR SIS o § 1 I% geat a% uged |
10s =1 93 ot 71 fafee i 39 910 FIST 1 (g=9.8m /2
What is meant by free fall? A ball is dropped from the roof of a building. It take 10

seconds to reach the ground. Find the height of the building.
(§=9.8m/s?

e TIgh! g el T SAEHAT o A FehRl ol Seell HITST | Wgehl o faeg ST S orelt T
e iR & fRues fafuar fafam)

Mention three different ways in which crop plants can be attacked by insect pests. Also
suggest one control measure and two preventive measures against pests.

(b)

STETEAT Uel G o TN ¥ T el Uil ot A fohg WehR geffad ohd § 2

T REE T | Uee Y § | FergEe S Y o oy T SR sray uypsti # fRE yeR
FHT AT ?

7Y SRR H Sfed 7 # gig 89 =ifew) uy) oeR § wig ¥ o s § 2

Besides causing ill health and death, how do diseases affect the dairy animals ?

In a cattle farm there are fifteen cattles. How can you differentiate between
diseased and healthy cattles without conducting diagnostic tests ?

Cattle feed should include right amount of concentrates. What do concentrates in
cattle feed refer to ?

1oy UREde & SRH g4 § 8 arel Uiy fafay |
S 12 319 fsrerdn €, @ ST a9HH H9H Wdl § | Rl fafen |

Enumerate the changes that take place inside the matter during the change of
states.
When a solid melts, its temperature remains the same. Give reason

e wefyia foa 1 eremem Sifee @R = g9l & S Eife

()
(i)
(i)

fors o wfeld werm 1 - wd it fafem |
79 fafy gr1 fhe wahR & uerd gk fopg s Taha € 2
T W& i Yopfa o R § o fshd feprel Tehd € 2

Study the diagram shown below and answer the following questions:
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12.

13.

14.

15.

16.

17.

(i) Name and define the process shown in the diagram.
(ii) Which type of substance can be separated by this methods ?
(iii) ~ What can we interpret about the nature of ink ?

(a) ST T IR o Frenta &1 T Sig IV o hgehd &5 H o1 S fafaw |
(b) ek & § Ul S et fohg geen R SiE sufted @9 ¥ 2

(@) Write two points of difference between nuclear region of a bacterial cell and
nuclear region of an animal cell.
(b) Which structure present in the nuclear region of a living cell bear genes ?

feu 7T Uil 3 SMYR W g Skl ! TEEIHT 3R Fa IR | gkt feurfa san)

TdH A - HIERIC o Micrsti F O Bt § 3R s S et b1 T H T

Ik B - IR SRR s At 2t @ SR S e TEes g THR T8 W
T & B |

Identify the animal tissues from the given descriptions and also mention their location in

the human body.

Tissue “A” - cells are filled with fat globules and the tissue acts as an insulator.

Tissue ‘B’ - has cylindrical branched cells and the tissue shows rhythmic contraction
and relaxation thought life.

fersiiaen 3R Wrey TRl Saeh &1 Hifkered # dF s fafe |
Write three distinguishing features between cells of meristematic and permanent plant
tissues.

Teh A Tfq 3R STHE Tfd bl IR il | Gedeh ohl Teh Seredvl fafaw |

Define uniform and non-uniform motion. Write one example for each.

THfHT ga H T Tk ST &1 AR qsft Tt Y Hohdll © 519 98 T &l TS &1 AR Toherdl 1 S
feq T e w1 R Tty iR gEent giy wify |

A swimmer is able to swim in a forward direction in a swimming pool only when he is
pushing the water in the backward direction. Give reason for the above mentioned
statement and justify the same.

36 km/h %! =Tel ¥ =1 @1 Teh SR =Icieh g & AL | Teh alcieh ohl @9l Wl &1 98 oeh
TR 5 UehUg § o1 TSt i foRmERe § & STl § SR o4 Rl o= ol §1 TR SAifaRn 3R
eIk 1 FHel SAAM 450 kg B, T 9 §RI TIET T 96 TREh{erd HifsTe |

An auto driver moving with a speed of 36 km/h sees a child standing in the middle of the
road. He applies break and brings his vehicle to rest in 5 seconds just in time to save the
child. If the total mass of the auto and the driver be 450 kg then calculate the force of
brakes.
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18.

19.

20.

21.

g fivg P R Q 51 S ™ AR my 3R m, 8, 3R T T § di 30 W e &, T g |F
o T & | A § S

(@) S fuusi 1 geaHH ST R fear S

(b) 3 favei & o= 1 g et & S

) 3 fauei % sfra % = H o1 sufterd & ¥ @R g% o frafa 7

Two bodies ‘P” and ‘Q" having masses m; and m», when separated by a distance di exert a
force ‘F’ on each other. What happens when

(@) masses of both the objects are doubled.
(b) distance between the two bodies is reduced to half.
() the space between the two objects has no air and it is complete vacuum.

ferslt 9 7%, fS9eT g = 20 m/s2 &, W 10m &I 9% ¥ Th TR e S €1 qeer &6t =

IR HITT S8 I8 T % T3 ¥ THTUA ¢ | T4 T I 0 3 H ol 99 T off IReher shifag |

A stone is dropped from a height of 10 m on an unknown planet having g =20 m/s2.
Calculate the speed of the stone when it hits the surface of the planet. Also calculate the
time it takes to fall through this height

()  ‘Ieauve’ iR geHdE' | w1 aewd § 2

(b)  FHl - e iR T @I & T % Tk 1 Gia H vl Rifs |
(c) ek YU o foIT W] 3TN A o IS Q1 A1y Yedg ifsd |
(
(
(

a) What do the terms “macronutrients” and “micro-nutrients” signify ?
b) Briefly describe the formation of vermicompost and green manure.
C) List two advantages of using manure for nutrient management.
OR
(a) T UG foram 1o, WIE 3R 3ot H iR & wHeral §1 Q1 o HHeH % STMHR W 3 3R
g | S Shitad |

(b) TR F I Y forEd g TR STAN I THETA hifSTT |
(c)  JETHI o MR STAN & B aTel Tk @I faray |

(a) Ajay, an illiterate farmer does not understand the difference between manure and
fertilizers. Help him to differentiate between the two, in terms of their
composition.

(b) Justify the use of manure highlighting two of its advantages.

() Mention one drawback of excessive use of fertilizers.

=1 el w1 qRitd hifse : (18 <)

(i  Fed
(i)  HdreFan
(i) =

TR gRefEra Tl & NER W Ut Fi ferdl <1 staensii § oid fafau

Define the following terms : (any two)

(i) Rigidity

(if) compressibility and

(iif)  Density

Compare any two states of matter on the basis of above defined properties.
3Tgar/OR

(a) T R ST H FIE Toh THAN T Th W fArag |

(b) 1= % &R fafaE
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22,

23.

() 7\ A g e v ©
(ii) IS JER ¥ Wfeq sAfad & TEdh W e 9 @M ST 8.
(iii) =t % HEE H M U < F gEd ¥

(@) State one similarity and one difference between evaporation and boiling.
(b) Account for the following :
(i) We wear cotton clothes in summer.
(if) A wet handkerchief is placed on the forehead of a person suffering from
high fever.

(iii)  Wet clothes dry slowly during rainy season

()  ieee % HE 9 e fafen |

(b)  HICTES % QI FHI o A4 farEy |

=1 fagon # 9 Hiegs wet -

List any three characteristic of colloid.

Name the two components of a colloid.

Identify colloid from the following mixtures :

Muddy water, sugar in water, ink, blood, soda water, foam
OR

(a) T e R TS e § HIE 41 Sl faran |

(b) TS 3TEEH WeRA i fafy YR d gT AMIfeRd fod SR |

—~
(@)
~

—_
SRR

(@) Enumerate any two differences between simple distillation and fractional
distillation
(b) Draw a labeled diagram showing the process of fractional distillation

fen o Tk Wi e € foh 99 % | R 1 9 TRy gehR ufkafdd g
()  FRH SRAFH AT FRNT ?

i) R GRS Sifam o § 2

i) T T DA T AW T TR GG FIA G 2

iv) 7T S 9 |1 AN FHOMcHS R0 Y&Fid hial § 2

v)  URfee 8 vl H qF i TE gl 91d i

A

PR + ] ’
234 6 8 10 12
Time (in hour)
The graph given alongside shows how the speed of a car changes with time.
i) What is the initial speed of the car?

(
(it What is the maximum speed attained by the car?
(iii) ~ Which part of the graph shows zero acceleration?
(iv)  Which part of the graph shows varying retardation?
(

V) Find the distance travelled in first 8 hours.
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24.

Speed (km/h)
QLW
(@16 o)
=
@)

=N
o O

A

234 6 10 12
Time (in hour)

8. >
SUE/OR
foRelt T o1 ST-THA TR 3R ‘x’ 2781 o HHIGK @I, A1 STRI RN Aqd © 72 RN Iy 3T &
IR off & AFaT ¥ ?
feu U oI U e YRR Y TG b1 e s ® 2

speed (m/s)
speed (m/s)

time (s) time (s)

T o9 1 =1 10 ¥ § 36 km/h & 54km/h € St & | 3HeHT ROT G HiTorT |

If the velocity time graph of an object is parallel to x-axis, what does it mean ? Can
it be parallel to y- axis ?

What type of motion is represented by each one of the following graphs ?

>

speed (m/s)
speed (m/s)

time (s) ' time (s)
A bus increases its speed from 36 km/h to 54km/h in 10 seconds. Find its
acceleration.

T sh1 TR ShiTS | $EehT SI A fetfa |

5m @ HOE ¥ fRd g€ 10kg So99H i o%g Yot W fRa wam TUiaia s ?

(g =10 m/s?).

AT HIFT foh FY S 1 Tk TGS Th & Feh B 2Ea & & hl AIS Tohal © 2

Define momentum. Write its S.I. unit.

How much momentum will an object of mass 10 kg transfer to the floor, if it falls

from a height of 5m (g =10 m/s?).

Explain how a karate player can break a pile of tiles with a single blow of his hand.
31e/@T/OR

STecd ol IRWIHG HIT | T THHIR T 9 &l Teafafm, ©ia 3R dsel 9 o1 g 99F
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25.

26.

27.

SR R 3 & <17 faeiy feam &1 ged ifuss e fordem g 2 541 2

ST o foRmHaEe o T[0T &1 USRI id §U T TShATehel shi STEAT ShifeT |

Define ‘inertia’. A shopkeeper shows three toys to a child made up of
aluminimum, steel and wood, of same shape and volume. Which one of them

would have highest inertia? Why ?
Describe in brief an activity to illustrate the property of inertia of rest.

@ug ‘'a/SECTION - B

forerm 3 eqett & feire ® < s SMEEA oot faeman | fe=1 & & fyrem gr o O germr ©

(@)
(b)
©)
(d)

g =1 31 whret ® S5 ST ©
e &1 31 )X wee S ¢ |

foeire =1 31 el SR S5 S §
freire o1 11 et it T § oIge S | |

Shivam added two drops of iodine solution to potato extract. Which of the following
represents the correct observation made by shivam?

(@)

Colour of extract change to black

(b) Colour of extract change to brown

() Colour of extract change to brown black

(d) Colour of extract change to blue black

e Il ©

(a) TEEE (b) 3 I % THE el IH

(c)  diftures qTek (d) T 3 YRR i <A

Matanil yellow is

(@) a dye (b) yellow grain similar to arhar dal
() a nutritional supplement (d) another type of dal

S o1 IR 1 Hi o fora G, o=, wifed oK gen 3 = s 1, 10, 111 us IV i1 S 7t
SHerEenatl § A i H T 3T |

(a)

(n (1 (v)
I (b) () I d) IV

Reema, Archna, Shakti and Illa made the arrangement I, I, III, IV for determination of
boiling point of water. Which one of them has made the correct set up ?
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28.

29.

(€ I d) IV

FH % q9 W 6 1 Toieh I S o o0 Ten foeneft arfl = sqafied otar €1 o8 ot 9 ofen
TR T SR AT © 3R STH IRT AIHIG S & 1 T Y0

(@)
(b)
©)
(d)

ATIHTE ST IR TRl STt € e deh aTIEE - 10 C & S |, S9eh 918 araEe fER @ S €
Ao e 8, 0° C U=t §, 39 915 T o foee o a5 off araHe feer Tear €1

3 H A9 R § Wg 519 € o T I gl § JToae siel 3 o ST € |

e R, € 0° C a9 Tgadl § 3R qe doh feeR a1 € 9@ dh Sl o 3R I S99 Sufeerd
g

At room temperature a student sets up the apparatus to determine the melting point of
ice. He takes a beaker half filled with ice and dips a mercury thermometer in it. The
correct observation is :

(@)

Mercury in the thermometer keeps on falling till it reads —1° C, it remains
constant thereafter.

Temperature falls, reaches 0° C, then it remains constant even after the whole of
the ice has melted.

The temperature falls in the beginning but starts rising as soon as the ice starts
melting.

(d) Temperature falls, reaches 0° C and remains constant only as long as both ice and
water are present in it.

= few e fot 1 W@ A |

T

A - €S , B - 3G I FRES, C - AHINIY SRS a9 H 0 1 fHgo

A - SHIMEH FIREE &l aw, B - G SHIIH FiREgs, C - SHIHIH Figs aol 9H=
THe 1 T

A -¥%, B - Y5 A FaNEs, C - 9HM 99 a1 $THIHEH Farss (NH.Cl) &1 fasm
A - FHIFIY FARES & 919, B - 3G AHEH FaREs, C - STHHIH FAREE gl 9H=
THe 1 fHgm
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30.

31

32

33

The correct labeling of the diagram shown below is:-
. A

T

(@) A - cotton plug, B - impure NH,Cl, C-mixture of NH4Cl and common salt

(b) A - NH4Cl vapours, B- pure NH4Cl, C- mixture of NH4Cl and common salt

() A - cotton plug, B - pure NH,Cl, C- mixture of NH4Cl and common salt

(d) A - NhyCl vapours, B - impure NhyCl, c- mixture of NH4Cl and common salt

ST Uk o™ & gehret it foRor yanfed st T ot 3Tt AN SR gor | fay @ vt ®

(@) T UEl (b) ==l 1 faerEa (0 39 (d) THR I EMA
When a beam of light was passed through a solution, the path of light became visible. The
solution could be -

(@) Lemonade (b) Sugar solution

() Milk (d) Salt solution

e IR ! BieH 3 Fohd T8ed i =g fou § =1 a9 1 7 foran s €, o g9 dferd wea € fom e
(a)  TEwL TrEerT WRe el § (b) R I BieH oo IRy X < §

(c)  fagw o aw & s @ (d)  fagor arferd & s €

When iron fillings and sulphur powder are heated in china dish at high temperature , we
observe that

(@) Sulphur starts melting (b) Iron fillings start melting

() Mixture becomes red hot (d) Mixture evaporates

AME A Teh SRR W% B wdd 10ml. 77 TorIfer 31 faan 3R sud $o ghe 9% &
oTg o ST | 3T T TR 3R UM T & B1e Joigel ok 9 fsherd gu dfema

foru | 39w fera foren for Himerdt o6t SaTen g8 STt ® 3T TR bt 7 UT9 ki et o @iy
S g 1w R -

O EESIES

(b) TESSH ATHES

(C) TTH SRHATHES

(d) TGS

Manav took about 10 ml of dil. H>SOs in a conical flask and added a few pieces of clean
zinc metal . He observed small bubbles of a colourless and odourless gas coming out of
the flask , he observed that the candle flame goes off and the gas in the flask burns with a
pop sound . The gas is

(@) Oxygen (b) Hydrogen sulphide

() Sulphur dioxide (d) Hydrogen

T 7 Tk e | @R i Sie 3R ol U8el & fagor ) oSl 5 o IR 39 15ml
HIe SRUCHISS ST | ! &l a5t O et e | Ufara foman = o
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34.

35.

36.

(a) @1 3R TR IHI o faeras am1 o 21

(b) TR TT % TR & HUT Yo S § T TohL Tl Tl & |
(c) et T F HEH o HUT FASN & ] AN oh HUT &l Tl ¢ |
(d) FE e Wfkia T2 foan T

Namita took small amount of mixture of iron and sulphur powder in a test tube and to it
she added 15 ml of carbon disulphide. The test tube was vigourously shaken. It is was
observed that

(@) both iron and sulphur dissolve to form a solution

(b) grey coloured iron particles dissolved but not the sulphur.
() yellow coloured sulphur particles dissolved but not the iron.
(d) no change was observed.

Hfifere e il ga § S W, Hhe TSl Wi B |

IS R T TG IRE HT FHR HA: © -

(a) Tty TEgmEe d wifasw afed

(c) Ttfrem sifeese wd vamafTen uRada

(d) Fifer SEgeERe T TEE® 9Rad On burning magnesium ribbon in air, a white

ash is obtained. Name of the product and the type of change are:-
(a) Magnesium hydroxide and physical change

b) Magnesium oxide and physical change

C) Magnesium oxide and chemical change

d) Magnesium hydroxide and chemical change

(
(
(

TG hUIe hITIRTE Feree gRT fard 2t § -
(a) &4 H ek o 1Y AT SRR 6
(b) 7ea ® ek o 1Y IR TR i
() fRTR T 3TR hvseh o T1Y HATIATRR SThR bl
(d) 5= H heh ok 1Y dhEdl TR 6
Human cheek cells as observed under the microscope are
(@) Irregular in shape with a nucleus in the centre
b) Circular in shape with a nucleus in the centre
c

) Rectangular in shape with a nucleus towards the periphery
d) spindle shaped with a nucleus in the centre

(
(
(
S ST HIRTRIT 1 ST T3S A GHa 7 H | SIF | Freer! s =iy ?

(a) ATRH ARRSF HI WRERE FETS g US <A1 =1M6T |

(b) Il o FAT Rl Terd ok TeTw Farfed o1 € 9 @ =feu |

(c) =TSl sl feAeedl sl Hed ¥ o=MT =iy |

(d) SHRH |eft

Whish of the following precautions should be observed while preparation of temporary
mount of cheek cell ?

(@) wipe off extra stain with the help of blotting paper.

b) put the cover slip gently to avoid the entry of air bubbles

c

) avoid folding of the onion peel

(
(
(d) all of the above
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37.

38.

39.

eACE gRI @S ot fieeht i HIfRmeRei i s Teee Ui & & 9, Wel e T -
(a) =TS 1 foreell ST RIRTRIT foAT SaRITTRE T % Teh SO 9 ¥l Bt § |

(b) ==t it fereett § ifSremsii ot =rewen R § €21 & ifq wdid Bt § |

(c) 3 (a) a1 (b)

(d) SRIG HIE T/l

After observing a temporary mount of onion peel cells under microscope, the correct
statement is -

(@) Onion peel has closely arranged cells, without intercellular space
b) arrangement of cells in onion peel appears like bricks arranged in a wall
C) both ‘a” and ‘b’

(
(
(d) none of the above
T Sig e i TASS hl eI RI Ufatd id ¢ 1 3 gk IR TeX o€ Ufaa fhe | 9%
TS B Hehell © -

(a) A 4w =

OEREEERINEIE]
(c) i 'a’' 3R b’
(d) STRIE *FE Tl
While observing a slide of animal tissue under a microscope, Reena observed light and
dark bands. The slide can be of :

(@) voluntary muscles (b) involuntary muscles
() both ‘a” and ‘b’ (d) none of the above

SV J UIGY Sk hi WES YeAeel g1 Ufed @t iR fre fos s | e i 9@ veeH ©

(b) T

(d) SH® T8 &l

Abhay observed a slide of plant tissue under the microscope and drew the sketch as
under. The correct identification of the tissue is:-

(@) f’arenchyma (b) Collenchyma
() Sclerenchyma (d) None of these

Page 13 of 14



40.

41.

42,

forerfietl grT STaenfta Uit <kt AT Skt i¥Taar Uiiesfard i & faq stravaes 9t 9l 1
TR R -

(a) & formifier, Sta , o, qon, o, fheey Tm

(b) Eeft g8 freifhmn, 51, &=, qenr, famel | fihee we

(c) gt frerther , 51, qen, fheet Tm

(d) Feft g ferwrfirer, Ser, getr, ftheet T

The correct set of materials required to calculate the percentage of water absorbed by the
raisins is represented by the statement:-

(@) Dry raisins, water, container, weighing balance, forceps and blotting paper.

(b) Swollen raisins, water, container, weighing balance, forceps and blotting paper.
() Dry raisins, water, weighing balance, blotting paper.

(d) Swollen raisin, water, weighing balance, blotting paper.

SfTs A W o @hel & oY % ¥R 3R 3 fawe™ 913 & faw ot =gHAan 99 & e
Ty T e o wam § = § § oAy 1 ®F W wos 9ag o 959 | g =fey -

1=30m
h=20m
A

(@) T A SHR EFTRA30x20m2 ® (b)) Wt B RSTEeR &we 20 x 10 m2 §
()  Waw C o %@ 30x10m2 8 (d) A, BSRCHIFE +ff

In an experiment to establish the relationship between weight of a wooden cuboid lying
on the horizontal surface and the minimum force required to move it which of the
following faces of cuboid should be in contact with the surface ?

1=30m
h=20m
A
(@) Face A with area 30 x 20 m? (b) Face B with area 20 x 10 m?
() Face c with area 30 x 10 m2 (d) any of the face A, B or C.
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In an experiment to establish the relationship between weight of a rectangular wooden
block lying on a horizontal table and the minimum force required to just move it using a
spring balance. Which type of string should be used?

(@) very high elasticity (b) less elasticity
() moderate elasticity (d) anyone can be used.
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